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A..Uprav na soucin

a) ax+1)—bx+1)

b) x*(a* — a) + y°(a® — a)

c)a—c+x(a—c)

d) 7k(y-3)+y-3

e) k(a+b)—m(a+b)+n(a+b)

f) -y +7ak—y)-7bx-y)

g) 3a’(2r + 8t) + Sa(2r + 8t)

B.. Uprav na soucin pomoci vytykani
disla -1

a) 92a—5)—m(5 —2a)

b) kK’(c —2d) + k(2d — ¢)

c) a(x—3y)—5b(3y —x)

d) a’(3k — k) + a(k® — 3k)

e) a(x —y) +b(y —x) - c(x —y)

) (6c—d)+>a(d - 6c)

) ab(x —x%) — ¢(x’ —X)

C.. Uprav na soucin

a) 7(a+5)—x(a+5)

b) k(¢ + 2d) + k(c + 2d)

c) x—3y+5a(x—3y)

d) a’(k + k) + k + kK

€) a(x —y) +b(x—y)-cx-y)

f) 2 (6c—d) +=x(6c—d)

g) a(7x—3) +3b(3 - 7x)

h) 5(a—b)—6x(b—a)

a) axt1)—bx+1)

b) x*(a’ —a) + y®(a’ — a)

Cc) a—c+x(a—c)

d) 7k(y-3)+ty-3

e) k(a+b)—m(a+b)+n(a+b)
f) 2(x—y) +>ax—y)-=b(x—y)
g) 3a’(2r + 8t) + 5a(2r + 8t)

B.. Uprav na soucin pomoci vytykani

¢isla -1
a) 9(2a—5)—m(5 —2a)
b) k’(c —2d) + k(2d — ¢)
c) a(x—3y)—5b3y —x)
d) a’(3k — k%) + a(k® — 3k)
e) a(x—y) tb(y—x)-c(x-y)
f) %(6c—d)+§a(d—6c)
) ab(x — x%) — c(x* — x)

C.. Uprav na soucin

a) 7(a+5)—x(a+5)

b) kK’(c + 2d) + k(c + 2d)

c) x—3y+5Sa(x—3y)

d) a’(k + k) + k + K

e) ax—y)tb(x—y)-c(x-y)
f) %(6c—d)+ix(6c—d)

g) a(7x—3) +3b(3 - 7x)

h) 5(a—b)— 6x(b—a)

a) axt1)—bx+1)

b) x*(a’ —a) + y®(a’ — a)

c) a—c+x(a—c)

d) 7k(y-3)+ty-3

e) k(a+b)—m(a+b)+n(atb)
f) 2(x—y) +>ax—y)-=b(x—y)
g) 3a’(2r + 8t) + 5a(2r + 8t)

B.. Uprav na soucin pomoci vytykani

¢isla -1
a) 9(2a—5)—m(5 —2a)
b) k’(c —2d) + k(2d — ¢)
c) a(x—3y)—5bQ3y —x)
d) a’(3k — k%) + a(k® — 3k)
e) ax—y) tb(y—x)-c(x-y)
) %(6c—d)+%a(d—6c)
g) ab(x — x%) — c(x* — x)

C.. Uprav na soucin

a) 7(a+5)—x(a+5)

b) kK’(c + 2d) + k(c + 2d)

c) x—3y+ Sa(x—3y)

d) a’(k + k%) +k + kK

e) ax—y) T b(x—y)-c(x-y)
) %(6c—d)+ix(6c—d)

0) a(7x—3) +3b(3 - 7x)

h) 5(a—b)— 6x(b—a)

a) ax+1)—b(x+1)

b) x*(a> —a) + y°(a’ — a)

c) a—c+x(a—c)

d) 7k(y-3)+ty-3

e) k(a+b)—m(a+b)+n(a+b)

f) 2(x—y) +>ax-y)->b(x—y)
g) 3a’(2r + 8t) + 5a(2r + 8t)

B.. Uprav na soucin pomoci vytykani

¢isla -1
a) 9(2a—5)—-m(5 —2a)
b) kK’(c —2d) + k(2d —¢)
c) a(x —3y) - 5b(3y —x)
d) a’3k —k?) + a(k® — 3k)
e) ax—y) tb(y—x)-c(x-y)
) %(6c—d)+§a(d—6c)
g) ab(x —x%) — ¢(x* — )

C.. Uprav na soucin

a) 7(a+5)—x(a+5)

b) k(¢ + 2d) + k(c + 2d)

c) x—3y+ 5a(x—3y)

d) a’(k +k*) +k+ K’

e) a(x —y) +b(x—y)-c(x-y)
) §(6c—d)+ix(6c—d)

g) a(7x—3) +3b(3 - 7x)

h) 5(a—b) - 6x(b—a)



